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Question Paper Specific Instructions
Please read each of the following instructions carefully before attempting questions :

There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and in
ENGLISH.

Candidate has to attempt FIVE questions in all.

Questions no. 1 and 5 are compulsory and out of the remaining, any THREE are to be attempted
choosing at least ONE question from each section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be
stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No
marks will be given for answers written in a medium other than the authorized one.

Assume suitable data, if considered necessary, and indicate the same clearly.

Normal probability distribution table is attached for necessary reference.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a question

shall be counted even if attempted partly. Any page or portion of the page left blank in the
Question-cum-Answer (QCA) Booklet must be clearly struck off.
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T us A
SECTION A

Ql. (a) TUH Hul & Al I MHd aiffs AT T 5,000 T8 HES fome
¥ 1,200 2 | UET Heg fohan Siram 2 fop vt sifiept <Y o oftwa & SoTer @ |
144 T #iffent o1 AT foram e fmeht sfted @1a T 5,500 918 TS |
FAT YZ el A1 Tohdl & b TAMT Affehi 61 3 T SHEE o @ds &9 9
31ferh 8 2 (o = 0-05 39T hifsrm)
The mean annual income of workers in a company is ¥ 5,000 with a
standard deviation of ¥ 1,200. It is suspected that local workers have

higher than the average income. A sample of 144 local workers is drawn
and their sample mean income is found to be ¥ 5,500.

Can it be said that local workers have significantly higher income than
the total population ? (Use a = 0-:05) 10

(b)  IUAT AfTaeh HEMHE % HRU I TE Qe (ATHSSA) o CRH FHAH T
fRaqepte et Ig@ S-HHE HUE %k gRI HE-HE H SYC-FEA THGT
(wm.di.wm.) wHifeEt s T8 2
What Supply Chain Management (SCM) strategies were adopted by

leading e-commerce companies such as Amazon and Flipkart during the
lockdown period caused by the Corona Pandemic ? 10

()  EeF JUTCA SHa|™ TSl ! g Ul o+ H wEmEar ¢t fohd TR
gftergicaes @Y ¢ dehdl 8 ?
How can information system bring competitive advantage to business
organisations by supporting managerial decision-making ? 10
@) U AEitER sfaem 3 e e 2 f foret fom 41 < foe e & @
< 350 9fd MW Td T 22 Wfd YA BN | HH WA T (3l higT) Al
AT 3frEd "1 1 15% & | Ifd8H 9dqE § T 2,20,000 eI & g U0 a9
Glied 2 |
(i) anfde smew AET (.30, ) 6 ToET HifT |
(ii) e SFIRelad e # fohad SR feAi 1 emqfd &t 2 2
An engineering firm has determined that for a particular part, the cost
of purchase is ¥ 350 per order and ¥ 22 per part. Its inventory carrying
cost is 15% of the average inventory. The firm currently purchases
T 2,20,000 worth of this part every year.
(i) Determine the Economic Order Quantity (EOQ).
(i) What is the optimum number of days supply per optimum order ? 5
() TR o1 eyl Terehish 1 B 2 3W MY T hal A1 @ ? [R5 3w
Ferehich shi TUHT | Afeferd =Rl 19U HIfT |
What is Fisher’s ideal index ? Why is it called ideal ? Describe the steps
involved in the computation of Fisher’s ideal index number. 3+2+5
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AREAS UNDER THE STANDARD NORMAL DISTRIBUTION

The entries in this table are the probabilities that a standard normal variate is

between 0 and Z (the shaded area)

Z 0.00 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09
0.0 0.0000 | 0.0040 | 0.0080 | 0.0120 | 0.0160 | 0.0199 | 0.0239 | 0.0279 | 0.0319 | 0.0359
0.1 0.0398 | 0.0438 | 0.0478 | 0.0517 | 0.0557 | 0.0596 | 0.0636 | 0.0675 | 0.0714 | 0.0753
0.2 0.0793 | 0.0832 | 0.0871 | 0.0910 | 0.0948 | 0.0987 | 0.1026 | 0.1064 | 0.1103 | 0.1141
0.3 0.1179 | 0.1217 | 0.1255 | 0.1293 | 0.1331 | 0.1368 | 0.1406 | 0.1443 | 0.1480 | 0.1517
0.4 0.1554 | 0.1519 | 0.1628 | 0.1664 | 0.1700 | 0.1736 | 0.1772 | 0.1808 | 0.1844 | 0.1879
0.5 0.1915 | 0.1950 | 0.1985 | 0.2019 | 0.2054 | 0.2088 | 0.2123 | 0.2157 | 0.2190 | 0.2224
0.6 0.2257 | 0.2291 | 0.2324 | 0.2357 | 0.2389 | 0.2422 | 0.2454 | 0.2486 | 0.2517 | 0.2549
0.7 0.2580 | 0.2611 | 0.2642 | 0.2673 | 0.2704 | 0.2734 | 0.2764 | 0.2794 | 0.2823 | 0.2852
0.8 0.2881 | 0.2910 | 0.2939 | 0.2967 | 0.2995 | 0.3023 | 0.3051 | 0.3078 | 0.3106 | 0.3133
0.9 0.3159 | 0.3186 | 0.3212 | 0.3238 | 0.3264 | 0.3289 | 0.3315 | 0.3340 | 0.3365 | 0.3389
1.0 0.3413 | 0.3438 | 0.3461 | 0.3485 | 0.3508 | 0.3531 | 0.3554 | 0.3577 | 0.3599 | 0.3621
1.1 0.3643 | 0.3665 | 0.3686 | 0.3708 | 0.3729 | 0.3749 | 0.3770 | 0.3790 | 0.3810 | 0.3830
1.2 0.3849 | 0.3869 | 0.3888 | 0.3907 | 0.3925 | 0.3944 | 0.3962 | 0.3980 | 0.3997 | 0.4015
1.3 0.4032 | 0.4049 | 0.4066 | 0.4082 | 0.4099 | 0.4115 | 0.4131 | 0.4147 | 0.4162 | 0.4177
1.4 0.4192 | 0.4207 | 0.4222 | 0.4236 | 0.4251 | 0.4265 | 0.4279 | 0.4292 | 0.4306 | 0.4319
1.5 0.4332 | 0.4345 | 0.4357 | 0.4370 | 0.4382 | 0.4394 | 0.4406 | 0.4418 | 0.4429 | 0.4441
1.6 0.4452 | 0.4463 | 0.4474 | 0.4484 | 0.4495 | 0.4505 | 0.4515 | 0.4525 | 0.4535 | 0.4545
1.7 0.4554 | 0.4564 | 0.4573 | 0.4582 | 0.4591 | 0.4599 | 0.4608 | 0.4616 | 0.4625 | 0.4633
1.8 0.4641 | 0.4649 | 0.4656 | 0.4664 | 0.4671 | 0.4678 | 0.4686 | 0.4693 | 0.4699 | 0.4706
1.9 0.4713 | 0.4719 | 0.4726 | 0.4732 | 0.4738 | 0.4744 | 0.4750 | 0.4756 | 0.4761 | 0.4767
2.0 0.4772 | 0.4778 | 0.4783 | 0.4788 | 0.4793 | 0.4798 | 0.4803 | 0.4808 | 0.4812 | 0.4817
2.1 0.4821 | 0.4826 | 0.4830 | 0.4834 | 0.4838 | 0.4842 | 0.4846 | 0.4850 | 0.4854 | 0.4857
2.2 0.4861 | 0.4864 | 0.4868 | 0.4871 | 0.4875 | 0.4878 | 0.4881 | 0.4884 | 0.4887 | 0.4890
2.3 0.4893 | 0.4896 | 0.4898 | 0.4901 | 0.4904 | 0.4906 | 0.4909 | 0.4911 | 0.4913 | 0.4916
24 0.4918 | 0.4920 | 0.4922 | 0.4925 | 0.4927 | 0.4929 | 0.4931 | 0.4932 | 0.4934 | 0.4936
2.5 0.4938 | 0.4940 | 0.4941 | 0.4943 | 0.4945 | 0.4946 | 0.4948 | 0.4949 | 0.4951 | 0.4952
2.6 0.4953 | 0.4955 | 0.4956 | 0.4957 | 0.4959 | 0.4960 | 0.4961 | 0.4962 | 0.4963 | 0.4964
2.7 0.4965 | 0.4966 | 0.4967 | 0.4968 | 0.4969 | 0.4970 | 0.4971 | 0.4972 | 0.4973 | 0.4974
2.8 0.4974 | 0.4975 | 0.4976 | 0.4977 | 0.4977 | 0.4978 | 0.4979 | 0.4979 | 0.4980 | 0.4981
2.9 0.4981 | 0.4982 | 0.4982 | 0.4983 | 0.4984 | 0.4984 | 0.4985 | 0.4985 | 0.4986 | 0.4986
3.0 0.4987 | 0.4987 | 0.4987 | 0.4988 | 0.4988 | 0.4989 | 0.4989 | 0.4989 | 0.4990 | 0.4990
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Q2. (@ () TUirMia@mmsFd4an T amawas, S 448 3R @
W’ 3 W " 2 IR T A Hehd1 @ | WTRiehar <1 v Shifsu -

(A) @, S, G T e @ weRd @
(B) W 3R W @t fremn & m wehd €, W T I Gehel @ |

(C) © R T @ Femn o dehd &, W S < Tehan B |
(i) Fffaa e areft 3 e fof guen o1 o e w2

wehfd <l fearfaar faeped
T, T, L
% 190 186 182
% 164 162 166
35 142 144 174
afe Frfefad waeue 3w fobe Sid 2, o shia-a1 fashed =rafd gmm 2
(A) HfFgtey A9gUs
(B) Afegfu HIeUs
(C) Efadsd ATIeUe

(afg stremaTg ST 9RO 0-7 HET S0)
(1) ‘A’ can hit a target 4 times in 5 shots, ‘B’ 3 times in 4 shots and ‘C’
twice in 3 shots. Calculate the probability :
(A) ‘A, ‘B, ‘C’ all may hit the target.
(B) ‘B’ and ‘C’ may hit the target, but ‘A’ may not hit it.
(C) ‘C’ and ‘A’ may hit the target, but ‘B’ may not hit it.

(ii)) A decision problem has been expressed in the following payoff

table :
States of Nature Alternatives
Aq A, Aq
E, 190 186 182
E, 164 162 166
Eg 142 144 174

Which alternative will be selected if the following criterion is
used ?

(A) Maximax criterion
(B) Maximin criterion

(C) Hurwicz’s criterion
(Assume degree of optimism is 0:7)
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(b)) @

(i)
(iii)
(iv)

(i)

(i)

(iii)

(iv)

() @)

(i)

1)

(i)
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“Geegrent gr folg o | ol gemar el (Shug.ud.) e geey
A1 oIl (TH.3778.04. ) 9gd Swant § |7 feolt i @ st 3w
& T T deh aIfau |

€.U9. U9, U9 UH.3TE.UY. H hy 7t fRIT ST Gehdl & ?

€.UA.TH. & 379 18 ?

S-Afd Ud cEdEd-alfdd SL.UE.UH. % §d & gHEAE Ud
STHAFAN & ?

“Decision Support System (DSS) and Management Information

System (MIS) are very helpful for managers in taking decisions.”
Comment and support your answer.

How can DSS be differentiated from MIS ?
What are the components of DSS ?

What are the similarities and dissimilarities between data-driven
and document-driven DSS ?

U giasH frel 3utor 1 wfowenfuq s W fa=m =t @ 2, faeh
TH ANA T 4,000 2 T auid § ThY e 0T B | M % HER T
I8 9T T TR 30 YT <l WEEE o y9W 99 § 0 99 fid ay
4 ¥ 1,000 7 | 9gH0 I UfT a9 T 300 ¥ el B |

(A) A =S @ 0% (Y fdwrd) 2, a1 YR e ghaednig
T IR 2
(B) AfC &I g 12% &1, Tl IUH0T hl el YTGEATYT T FMRT 2

“Gra (3a=d1) T v aehEd ufshan & fored sreRer fof qdhde w9
g foe 9Id 8 |7 THesT |

A firm is considering replacement of an equipment, whose first
cost is ¥ 4,000 and the scrap value is negligible at the end of any
year. Based on experience, it was found that the maintenance cost
is zero during the first year and it is ¥ 1,000 for the second year.
It increases by ¥ 300 every year thereafter.

(A)  When should the equipment be replaced if the interest rate
is 0% (zero percent) ?

(B)  When should the equipment be replaced if the interest rate
is 12% ?

“Inventory Control is a rational process in which decision-making
is often done irrationally.” Explain.



Q3. (a) ()

(ii)

(iii)

(ii)

(iii)

(b) @

(i1)

3-IH ITEqehedl 1 & ? fohd qehrilehl Tamai &1 39 W Y@ 9WTa
qS1 8 ?

SUEA % @R Wl wd swme § fewfe fafm s i
e fies-fehanatt w1 auie HifvT |

$-9EH o TR o e wRd weR &yl ud sEt A faeee
Hifsu |

What is e-business architecture ? Which technological innovations
have had a major impact on it ?

Describe the four pillars of e-governance and the various types of
interactions performed in e-governance.

Discuss the Indian Government’s efforts and actions towards
implementing e-governance.

ffafaa ew (fif=r) gt gwen S e (afesa) fafa |
& ST :
AT —AdH <hIAT :
C = 5xy + 6%y
FﬂTLSﬁ:
X + X9 = 1000
x; <300
X9 > 150

X1, X920

U fafgad g 1 9l i i e | 9G9I B4 1 e foha S @ |
weisehm | difed 500 st w fhT T W # S0 @ e I e
wd 39 i =T T Mot & e |

frfafaa amoft § Wt % 3v=mr 6 gfafwarnd o i T E

HXS-B-MGMT

IR HEGTH THAMSES | hig YHTE &l
gl 150 30 70
=t s Mot 130 40 80
B 280 70 150
IWATH 3ATehsl o MU W 1 I8 Fsehd fehren S dehar B fh gar 3k
= <t Tt & e § AEagel firmdr B 2
6




(i)
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Solve the following Linear Programming Problem by Graphical

Method :

Minimize cost :

C = 5x4 + 6%y

subject to :

X1+ X9 = 1000

x; <300
X9 > 150

Xq1,X920

A certain drug is claimed to be effective in curing cold. In an
experiment on 500 persons suffering from cold, half of them were
given the drug and the other half were given the sugar pills.
Patients’ reactions to the treatment are recorded in the following

table :
Treatment Helped Harmed No Effect
Drug 150 30 70
Sugar pills 130 40 80
Total 280 70 150

On the basis of the above data, can it be concluded that there is a

significant difference in the effect of drug and sugar pills ?

10

10



CRITICAL VALUES OF CHI-SQUARE (x2)

f(2)
. W2
g > X
dar o 0.100 0.050 0.025 0.010 0.005 0.001
1 971 3.84 5.02 6.63 7.88 108
2 461 5.99 7.38 9.21 10.6 13.8
3 6.25 7.81 9.35 11.3 12.8 16.3
4 7.78 9.49 11.1 13.3 14.9 18.5
5 9.24 11.1 12.8 15.1 16.7 20.5
6 10.6 12.6 14.4 16.8 18.5 22.5
7 12.0 14.1 16.0 18.5 20.3 24.3
8 13.4 15.5 175 20.1 22.0 26.1
9 14.7 16.9 19.0 21.7 23.6 27.9
10 16.0 18.3 20.5 23.2 25.2 29.6
11 17.3 19.7 21.9 24.7 26.8 31.3
12 18.5 21.0 23.3 26.2 28.3 32.9
13 19.8 22.4 24.7 27.7 29.8 34.5
14 21.1 23.7 26.1 29.1 31.3 36.1
15 92.3 95.0 27,5 30.6 32.8 37.7
16 23.5 26.3 28.8 32.0 34.3 39.3
17 24.8 27.6 30.2 33.4 35.7 40.8
18 26.0 98.9 315 34.8 37.2 42.3
19 27.2 30.1 32.9 36.2 38.6 43.8
20 28.4 31.4 34.2 37.6 40.0 45.3
21 29.6 32.7 35.5 38.9 41.4 46.8
22 30.8 33.9 36.8 40.3 42.8 48.3
23 32.0 35.2 38.1 41.6 44.2 49.7
24 33.2 36.4 39.4 43.0 45.6 51.2
25 34.4 37.7 40.6 44.3 46.9 52.6
2% 35.6 38.9 41.9 456 48.3 54.1
27 36.7 40.1 43.2 47.0 49.6 55.5
28 37.9 41.3 44 .5 48.3 51.0 56.9
29 39.1 42.6 45.7 49.6 52.3 58.3
30 40.3 43.8 47.0 50.9 53.7 59.7
35 46.1 49.8 53.2 57.3 60.3 66.6
40 51.8 55.8 59.3 63.7 66.8 73.4
45 57.5 61.7 65.4 70.0 73.2 80.1
50 63.2 67.5 71.4 76.2 79.5 86.7
55 68.8 73.3 77.4 82.3 85.7 93.2
60 74.4 79.1 83.3 88.4 92.0 99.6
65 80.0 84.8 89.2 94.4 98.1 106.0
70 85.5 90.5 95.0 100.4 104.0 112.3
75 91.1 96.2 100.8 106.4 110.3 118.6
80 96.6 101.9 106.6 112.3 116.3 124.8
85 102.1 107.5 112.4 118.2 122.3 131.0
90 107.6 113.1 118.1 124.1 128.3 137.2
95 113.0 118.8 123.9 130.0 134.2 143.3
100 118.5 124.3 129.6 135.8 140.2 149.4
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Sags Y qauddes 3 & fou Aol 3cure foamd w1 & s
TeheUHT sl AT HIfIT |

weh fafemior suft BH9m 10 1 THAT AR (FEIA TIEH) YA H oA
2 | fuset 10 701 & Afere Frafafea amwoft § fgu mu & .

YUl gehTeAl hi Hd ?@.Eﬁ
e ECaER
150 1,000

o fagam 2 5 @7 woneht (foeew) wm= ufifeufosi (wef) & &

HaTford &1 @ 2 |

(A) T dmrsti & @y ueh s = A arfe amr=r aftfeta
(vrdt) ® P qTd} TS IHRISAT BT 95% AT HHIST b T TR
ST |

(B) =M ofifore foh arret 5 ot # el gehreat <t e -

3,4,2,0T@ 72 |

ATE (Wfhehed) ®9 | Yefvta hifsre fop @ ufskan femor 4 2
YAl & |

Apply the concept of “Decay Curve of New Product Ideas” to an

innovative product like ‘e-Bike’.

A manufacturing company always uses a sample size of 10. Data
for the past 10 samples are as follows :

Number of Total Units
Defective Units Sampled
150 1,000

The system is believed to be operating under normal conditions.
(A) Construct a control chart with control limits such that
measurements for 95% of the units under normal conditions
would fall within the control limits.
(B) Suppose the number of units defective in the next 5 samples
are :
3,4,2,0and 7.
Demonstrate graphically whether the process is under
control or not.

fopH PR T-gor @1 FHfsshadr 1 @rTa Sl & 7 2 W Se

GRS i g S § I =20 61 gui Hifsy |

o3, SMHAT & eal § “@Ud TUET HT 85% F Tee i T =

gq%” | foea wal Icared yonferai o el § 39 sud ol faa=m
|

U HiFed R foehfad i arelt wrot § Faem-famm’ qorean & vee §

7 Joe, soieh Sod Td A soidh e ol & Yfiept gidl & 2

9



(iv) Tordll fwem % foag frefafaa geamd & o €

e Fx uTfad fdfafe
U g9
T 1=3 11
Eil 2-3 10
il 24 8
Ell X5 5
3 3-6 6
3 4-6 9
K 5 =7 D
T 617 7
33 7 -8 12
E| 7-9 5

(A) Jeas @ Hifku
(B) shifaes uy (fehfesret ) @ifru |

(1) How does the balancing line reduce the cost of idleness ? Describe
the steps involved in solving a line balancing problem.

(ii) W.E. Deming said, “85% of poor quality can be attributed to
management”. Discuss this statement in the context of World
Class Manufacturing Systems.

(ii1) What role is played by Green belts, Black belts and Master Black
belts for managing ‘Six-Sigma’ quality in a Software Development
Company ?

(iv)  For a project, the following information is given :

. Expected Activit,
i SI6S CoII)npletion Tim(}e’
A 1-2 11
B 2-3 10
C 2—-4 8
D 2-5 5
E 3-6 6
F 4-6 9
G 5-17 2
H 6—-"7 7
I 7-8 12
J 7-9 5

(A) Draw the network diagram.
(B) Find the critical path.

HXS-B-MGMT 10
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() et O (Fega i) v & fagea = & 2 s Jfe <l STaaren
1 T FIfw | aferesn qdier d§ gHehl F TR 8 2

(1) Twelve salesmen are ranked for efficiency and their length of

service. Find the rank correlation coefficient. 5
Salesmen Efficiency | Length of Service
A 1 2
B 2 1
C 3 5
D 5 3
E 5 9
F 5 7
G 7 7
H 8 6
I 9 4
J 10 11
K 11 10
L 12 11

(ii) What are the tenets of Central Limit Theorem ? Discuss
the concept of Standard Error. What is its utility in hypothesis
testing ? 3+2+5

HXS-B-MGMT 11




© (@) ot et & for €. dt, il weeat 2 2
(i) .. frerae % onfier veqsli vd 3ud gt ot i w9 |
(i) Thgl 1 Lo fraraam wHifEl % 9§ Rear & e
EAELE
(i) Why is ERP important to a company ?

(i)  Explain the economic aspects of ERP implémentation and the
hidden cost therein.

(iii)  Discuss in detail any three ERP implementation strategies.

HXS-B-MGMT 12



Q5. (a)
(b)
(c)
(d)
(e)
Q6. (a)

©us B
SECTION B

“ara TR fqem U & STEde 1 ged o fote amfior &t § 3Eh i
HH o ot Ticamea ¢ W 7 |7 e Hif |

“The Government of India has been making efforts to remove the
regional imbalances in development by providing incentives for setting
up industries in rural areas.” Elucidate.

() & eTfedes wehihtu o fafim @l &1 aviF Hifve |

(i) ‘Sfede’ o 9& va foue w0 & ?

(1) Describe the different levels of regional economic integration.
(ii))  What are the pros and cons of ‘BREXIT” ?

“oh ofe (fos) St fo6 ogd omd (TsHe) B s@eht i Wl g @
BT |7 @1 Y $H HYF § HEHd & ? U UK IaTeU H I I I
sifacy fiag hifT | Tmemse foh hd 3evd UeshA o1 Mo sid & |

“A vision is too abstract to be of any practical value.” Do you agree with
the statement ? Justify your answer with a suitable example. Explain
how objectives form hierarchy.

(i) 37 =il AR HIFTT ST g9 Ifqeqgicashdr st guTfad d 3 |

(i) 3 uHI Dl THAEY I T IOl Hl URG A FIEE HH A
ST 1 SAThTH HH 2q JodTohd AT MM |

(1) Elucidate the factors that influence country competitiveness.

(ii))  Explain the factors that a company should evaluate to assess ‘ease
of doing business in India’.

gewifer frmem o S st At S8 gemar a2 2 W adwifeE
fareciyor & &= oy ud i 2

How does BCG Matrix help in portfolio planning ? What are the
advantages and limitations of such a portfolio analysis ?

() e 3fenfies fifd § It wHifaEt 1 379 &1 ey o= @ 2
(i) “GquE H qehrehl-3TTide wearaelt § ‘Avdienor Ug w1 HEwd dedl o
@2 |7 I rdeaeawdT & UNueEd H 39 HAF hI GHARY |

(iii) TEH 3N SAUEH 1 IR Hl dQET &F o (o0 3fead Irsw 3A1%
Hd (AE.58.5.) gr feu 51 w fafvm greamst it fag=mn $ifs |
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(iii)
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(i1)

(i)

(i1)
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(ii)

(iii)

(i)

(ii)

(iii)

Q7. (a) ()

(i)

HXS-B-MGMT

What is the rationale behind liberalization strategies adopted by
the New Industrial Policy ?

“The term ‘globalisation’ assumes increasing importance in
today’s techno-economic parlance.” Explain this statement in the
context of the Indian economy.

Discuss the various initiatives undertaken by the Indian
Chamber of Commerce (ICC) to promote both national and
international trade.

dfegs "o H FHAME *1 Yoo wH & U SgugE HutEi
(TH.T4.H.) & g WM H &5 AW dTel] 9R diEehideh qag i ol
guiF T |

S o NN TER[aAl I FHIH H HEEH(dh AFH T FRLS Hl
Hisd A-AUTH Ja-4ehi bl bl THY AT 8 ?

Describe the four cultural predispositions that MNCs are likely to
adopt towards managing employees in global context.

How does Hofstede’s model on cultural dimensions equip
international managers with an understanding of cultures across
countries ?

U & ed-ofEel mied 6l wafies va fdiae wfafafiei & &= %
FagrsFE Sl YEETHT |

el fagelyo 8 geferd fohan Sren 8 2 g wEEal &
HHATST |

“Torfifd ST T ITeE Sl B, ST WHIG 1 g8aiT S 2 17 3|
HYT T ATATEICHS [FIATIN HIfT |

Identify the linkages between primary and secondary activities of
Porter’s value-chain model.

How is value-chain analysis conducted ? Explain with the help of
an example.

“Strategy follows structure, structure supports strategy.”
Critically analyse this statement.

“ferelt gfasm 1 21 gl & FW Afaeagicns a9 e i Ud
T W H g (SATER) wHEifaET aeg w8 17 Ieie YR 6
AT WA 7 39T 3EeWN g 39 YA i R § 0TSy |
39T 3GWN I 3IgYd Hd g0 fowdr, Thiwtr wd fofaeintor 6
foepra worfifaal 1 guemgy | fopa uftfeafost & 3 writfaat stoam &
fore waiferen 393 € 2
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(1) “Generic strategies help a firm to gain and sustain competitive
advantage over its rivals.” Elaborate this statement by giving
suitable examples for each type of generic strategy. 8

(ii)  Explain the growth strategies of expansion, integration and
diversification by citing suitable examples. Under which
conditions are these strategies most suitable for adoption ? 12

(b) HESI & % 3 Iushl (N.uH.g,) H TR gRI Yefud ve FEfa fee
STl ® | 3 IUshAI (F.TE.Y,) % I9YH IS I IgYd Hid gY AMR H
TR hl FEIfiTal o1 sitfacy fiag hifse | @ o1 amd 8 f6 1 @ 3o
.08, T LR i 1 TR 1 HoR 3fd 3 2 39d IW % guela o
ST T |
A number of Public Sector Undertakings (PSUs) are managed and
controlled by the government. Justify the State participation in business
by citing suitable examples from these PSUs. Do you think that the
government’s decision to monetize some of these PSUs is justified ?
Give reasons to support your answer. 1045

© () facsft = mm 4 e fafie famaiyor qendient 1 a9z |
i) Tr=fafea st S ge fomvard w0 g 2
(A) @@ 9=
(B) ©IqH 9
(C) aTfurfsoe i
(D) gt st

(E) {1 99193

(1) Explain the various financing techniques employed in foreign
trade. 5
(ii))  What are the main features of the following documents ? 10

(A) Letter of Credit

(B) Bill of Lading

(C) Commercial Invoice
(D) Consular Invoice

(E) Insurance Certificate

Q8. (a) () < YA €Y Td FaUPF TEled Y9Y H 9 EHEAU ud
HYHHATE & ?
(i)  SgE JaTed Yey ¥ wftifad fafie wrifes gei = a9gms |
(iii)  Afvaes e yrey (fewme) o afmfeq fafim gei o1 avfv i |
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(i)

(i)
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(ii)

(iii)

(i)

(i1)

(iii)

(O Y

(i)

(1)

(i1)
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What are the similarities and dissimilarities between domestic
operations  management and  international operations
management ?

Explain the various strategic issues involved in international
operations management.

Describe the various issues involved in global organizational
design.

W frmi (wie) & ffw @ faem st sifmrw (T ue w)
AT T L R & 2

1 forelt Iferd ot W wfaet dleh | shew T HYE R 2 S99 I
1 3ifacs fag Hifsg |

A9 WA S % STas(e, % U4 U8 U sfed gy =48 @ 91d
& | SUYH IR I IgYT I gU Il RO hi Rdrer Hifvrw |
Why are mergers and acquisitions (M&As) gaining popularity
among Indian corporates ?

Is it possible to take over a target company in a hostile manner ?
Justify your answer.

Despite comprehensive strategic planning, many M&As do not
yield the desired results. Discuss the possible reasons for the
same, citing suitable examples.

“fortd g 3% Hierell ud eRuns fqEd % @t @ §, S 9
aeft, wrew W afe 9 6, @ St @ evid € 17 5@ wem F sew
#, 51 gt 3 I ag W Ffi e o ) i R
HITT |

“Staifer FrEIR forawor gomett (R.€.wg.) Tt @@ ue de Ay &
sl 2, R o T @ T e i ) s S S
BR |7 WRd | @re ud 9o geen ued s § N ug. 6 wrElguned
Td AT W M Hi5d H gU SH HUH H1 SAEHIHS [aversor
EAEE

“The past decades have witnessed a number of scandals and
shareholder disputes, all of which indicate lacunae, if not lapses,
in governance.” In the light of this statement, discuss the role of

Indian corporate governance framework in responding to these
challenges.

“While the Public Distribution System (PDS) forms a cornerstone
of government food and nutrition policy, India continues to be
home to a large population of hungry and malnourished people.”
Critically analyze this statement by focussing on the functioning
and efficiency of the PDS in achieving food and nutritional
security in India.
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